Chapter 11 Practice Problems
Multiple Choice Questions

1) Imposing taxes that increase as a firm’s pollution increases is often recommended by economists as a means to reduce pollution. The reason for this recommendation is that such taxes would likely

a) Eliminate pollution completely

b) Encourage firms to use the most efficient method to reduce pollution

c) Increase the government’s revenues

d) Encourage firms to increase production

e) Be paid out of firm’s profits and not paid for by higher consumer prices

2) Which of the following is true when the production of a good results in negative externalities?

a) The government must produce the good.

b) The private market will produce too little of the good.

c) The private market price will be too low.

d) The government must prevent the production of the good.

e) Private firms will not be able to maximize profits.
3) A chemical plant pollutes a river that serves as the water supply for a nearby town. From an economist’s point of view, pollution from the plant should be reduced until the

a) Marginal benefit from cleaner water is equal to the marginal cost of making the water cleaner

b) Marginal benefit from cleaner water is maximized

c) Marginal benefit from cleaner water is zero

d) Total benefit from cleaner water is equal to the total cost of making the water cleaner

e) Total benefit from cleaner water is maximized
4) Whenever the production of a good creates negative externalities, an unregulated market will result in

a) Too little of the good being produced

b) An optimal amount of the good being produced as long as the market is perfectly competitive

c) Society’s marginal cost being higher than the firm’s marginal cost

d) The firm’s marginal cost being higher than society’s marginal cost

e) The firm’s marginal cost being equal to society’s marginal cost
5) Characteristics of a common resource include which of the following?
I. Nonpaying consumers can be excluded from consuming the good.

II. Consumption by any one person does reduce the availability of the good to others.

III. The amount consumed depends on the price paid.

a) I only

b) II only

c) III only

d) I and II only

e) II and III only

Free Response Questions
1) Assume that product X is produced in a perfectly competitive industry and that product X yields costs to individuals who are neither consumers nor producers of product X.

a) Using one correctly labeled graph, show the industry output and price under each of the following conditions.

i) The industry ignores the externality.

ii) The industry produces the socially optimal level of output.

b) Assume that the market is producing the level of output you identified in (i). Identify one policy the government might use to achieve the level of output you identified in (ii).

2) The government has decided to take action to reduce the pollution caused by the chemical industry. This industry is composed of profit maximizing, perfectly competitive firms.

a) Identify one policy that the government could implement to reduce pollution.

b) Explain the effect the policy you identified in part (a) would have on each of the following for the firms in the chemical industry.

i) Marginal cost

ii) Output

iii) Price

c) Explain the effect of the policy you identified in part (a) on the efficiency of the allocation of society’s resources.
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3) The supply and demand for land for residential development is shown in the diagram above. The land supplied for such development comes from privately held open-space land or privately held farmland.
a) Redraw the graph above and show how a decrease in government per-unit subsidies to farmers will affect the equilibrium price and quantity of land converted into residential development, assuming that land for residential development is a normal good.

b) Redraw the graph above and show how a decrease in government per-unit subsidies to farmers will affect the equilibrium price and quantity of land converted into residential development.

c) Assume that the conversion of open-space land and farmland imposes costs on the general population, which can no longer enjoy the scenic vistas.

i) Indicate whether the marginal social cost of converting land is greater than, less than, or equal to the marginal private cost of converting land.

ii) Explain whether the private market quantity of land converted into residential development is socially optimal.
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4) The graph above shows the price (P0) and quantity (Q0) at which there is an efficient allocation of resources. However, in some cases the market fails to allocate resources efficiently.

a) Assume the chemical industry is polluting the air.

i) Using marginal benefit and marginal cost analysis, explain how the chemical industry is misallocating resources.

ii) Identify one policy or action the government could take to correct this market failure.

b) Assume it is difficult to exclude nonpayers from enjoying the benefits of national defense.

i) Using marginal benefit and marginal cost analysis, explain how the private market will fail to produce the efficient level of national defense.
ii) Identify one policy or action the government could take to correct this market failure.
